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1, Con51der the data glyen m the followmg table. .

Tea consumptlon (Y) in relatlon to average retall price (X) in Taiwan, 1991-2000

Year Y (liter(Z3F) per perslon per. X (NTS$ thousand
. week), . per kllogram)
1991 2.57 ., . , 0.78
1992 250 N 0.75.
1993 . 2.53 s 0.76
1994 .2.30 ca el 0.73
1995 2.25 N R -0.75 -
1996 220 0.75
1997 ,2.11 1.08
1998 1.95 1.80
1999 2.05 C , 1.00
2000 R02° 1.04
(a). (10%) Estimate the regressxon of tea quar}uty demanded to its prxce
A RY O O
(b) (5%) Student A adopts the double log model o estirhate the demand functmn and obtains the following '

coresulte ooon syt b f,f:’a.a’«":?‘i-ifw H ‘ L
lnY 0.7793-0.2637In X,
se  (0.0229) (0.0790)

Please interpret me*éégnghiidktrléaerxtd‘g for the ‘svlop‘e’coefﬁcie.nt?
(c). (8%) Student B rescales the unit of X as “NT$ per-kilogram” and re-estimate equation (1). How will this
affect the es’umated m'tercept and slope obtained from (a)? -
2. The estimated production’ function for Talwan over the 1959-1997 is
InQ, =-3.938+1.451In L, +0.384In K,
se (0.237) (0.083)  (0.048) R*=0.9946 DW=0.88
We suspect that there is the autocorrelation problem in the estimation
(a). (6%)What is the nature of autocorrelation? Interpret it economically and symbolically.

(b). (5%) The most celebrated test for detecting autocorrelation is the Durbin-Watson d statistic. Please show
the formula. o

(c). (6%) Is there positive or negative autocorrelation in the estimation? Show your hypothesis testing.
n=39 » k=2 » 5% significance level .d,=1.382 .d,=1.597
n=39» k=3 » 5% significance level .d,=1.328 » .d,=1.658

(d). (6%) Show your remedial measures

. ATRERCAGHEXRALESWERENHEATHLLR A RBKEMEH AJLEEIMH L) -
PR RS ZMER  EAET 100 4 A KM EH > BBITAT HRE I
Y= B+ BX, + B,D1, + B, D2, +u,
AP Y=$FE (Fu) X=Bf0%¥ D AEBRHEHRYH(ummy variable)
(2). (6%) Hpkofa 355 & =18 S HR 4 807
(d). (6%) % B, =3.54 » FRBHEQOBRTABILARHIEEER -
(©). (6%) ZAb3H4E Rty se(B,)=0.85 » HARA W M AT 8% 00 B 7 1 (a=0.05)
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=-13.021+2.826.X,, +0.09.Y,, +23787D,

se =(4.9310) (1.2629) (0.1421) (1.0645)
t=(-2.6407) (2.2378) (0.7226) (2.2345) | Maddala R?=0 3821
Pt By 3T R ESIE UMY £ » R385 CLRM 69 MB(E) 02 7 & 2 - Why?
5.(18%) SHWEVETFIRIEAN « ARkt EMAILD « KRNI YT T2 4
(a). A linear regression model means a mode! linear in the variables.

(b). The adjusted and unadjusted R* are identical only when the unadjusted R* is equal to 1.
(c). If residuals estimated from an OLS regress

present in the data. l

ession exhibits a systematic pattern, it means heteroscadasticity is
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4. %KE%iL‘/(vi;—if-ﬁﬂﬂf‘}i-?{ﬁﬂféﬁéﬁ/)u;‘ﬁ}?l‘ié‘%ﬁﬁﬁiﬁﬁﬂfﬁ P RS s R ey i Bk s
A o M4k 50 Ao o 4 4 o S 48 5 AR a0
Vo= B+ BXo, 4 BX, + BD, +u,
£+ Y A binary-variable Y=1 Fhe  Y=0 k£
Xo= B A ERE (T 1) Xy= i B oK ¥ 68 50 (R$)
D & dummy variable D=1 B @4 D= % [B) &
(@). (6%) fe R A 4431 63 B ik L o AR HRIA 6748 5 7£9 Why?
(b). (6%) 1RTAHA B, 3 B, th 3k A E & &9 IR
(). (6%) KIBEATIEST 094 £ 4o T
lnmPA




